KK

8.22 8. 21 KD (a4
1))
AR PICE 6. 6597 6.6709 |-0.0112 | -0.17%
WT IR (& T/48) 47.83 47.53 0. 30 0. 6%
A4 R (EA/A) 51. 87 51. 66 0. 21 0. 4%
Lfmih (CFRH K) (En/ 465 469 -4. 00 -0. 9%
MX (FOB#$ I £ T/v%.) 652 652 0. 00 0. 0%
PX (CFRE &) (£ t/wh) 822 826 -4. 00 —0. 5%
PTASN 3 (£ 7Lvk) 635 635 0. 00 0. 0%
PTAR & (Ju/w) 5,130 5,105 25. 00 0. 5%
L MEGSh & (£ T/vwh) 878 877 1. 00 0.1%
MEGA & (T/vk) 7,270 7, 280 -10. 00 -0. 1%
REstn A (/) 7, 450 7,300 150. 00 2. 1%
saer (/) 8, 250 8, 250 0. 00 0. 0%
A (/) 7,900 7,825 75. 00 1. 0%
POY (T/#k) 8, 300 8, 250 50. 00 0. 6%
DTY (t/#»k) 9,700 9, 600 100. 00 1. 0%
FDY (5t/#k) 8850 8775 75. 00 0. 9%
i) 90% 200% —-110% -55. 0%
8 180544 (Gu/w#k) 5298 5262 36.00 0. 7%
’ }\ﬁu\ 170944 (5L/vk) 5110 5046 64.00 1. 3%
180144 (Gu/v») 5260 5204 56. 00 1. 1%
T B BN £ (E /) 113. 45 119. 65 -6.20 -5. 2%
PX—& i £ (£ /) 357.00 357.00 0 0. 0%
PTAMu T %% 844. 35 791.26 53.10 6. 7%
POY A (Jn/») 254. 95 222.975 31.97 14. 3%
DTYAE (Gu/#) 200. 00 150. 00 50 33.3%
o /A1 FDY A (Gu/».) 404. 95 347.975 56.97 16. 4%
= sE e Al (n/vh) 504. 95 522.975 | -18.03 -3. 4%
A AE (GL/#k) 204. 95 72.975 131.98 | 180.8%
#RA AlE (GT/h) 254. 95 197.975 56.97 28. 8%
i (£4) AMmE (GL/%) -130 -99 -31 31.3%
1709-17054 £ (Gu/») -188 -216 28 -13. 0%
1801-17094 £ (5u/#k) 150 158 -8 -5.1%
PTAL) FI X 69. 47 71. 51 -2.04 -2.9%
FILE EBE L) FIE 86. 20 86. 20 0 0. 0%
ML FLE 72 72 0 0. 0%
A% GEA+IR) 106, 015 106, 068 -53 0. 0%

1. $hE IR G S 1#5F 7 78387 wh 69PX 3 B 4133 71 47,

/ﬁ%']/]\};] o 2\

=% RE 5L

THRAFT (Z%) 7076/ FPTAE E T7A138 342, BIKERH

MAEHEEF ., 3. P oied 5N E&Mm G632, 57 v/ F0PTAE E T6H 121
FAZEENS, AXRITARER. 4. BEELLNALT BVF607 vb/ 5 09PTAK &

| RATT7AI0B 2L BESRYS, ZEBECTALR (238) #83F 5, 5. 4L

FEAL AR E KOl W A H530%-35% A9 IR AR, JLJE, EME HPXEK WA L3 b LiLE
o, PTMEER M F2, EWERTX4EE T B1407 wPTAKE, 6. % &EBP
11075 vb/SFPTAL B F8ATAKE &M%, LB FHAEL, 7. KEET
J~ 2207 vk./FPTAK B T8 A 22 H 3 [ i #750%% R iz T, 108 Ak .




WER Ee ) K E B AE, JIAT A & R e AR, TR SIPTAA AL M
iR (R ERK. BATIMWARER S, 122 THFREEXETIEmEG, ZHER, PTAIL
Whe TR KM 2 I, FUTPTAE & L3k = 10 A R,
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